¥ g2 o1 B (BP LRATOFE k)
B 3 I BN S B LA S

EFME vEAFY6E R Hi o 34+~
LEE BAER Bl 5808113003 R} [IF T A FT T E TE A 460,897
ArECH ET U
1. (R 7 5 PR ORI [ R o 1.5 FEERF O fER ;@HE%?EU %#uf?f%?ﬁ”’ﬁmﬁ?
= F'/ﬁ{%[ *%{r‘;’r—’éﬁrﬁmlu V=R AT o pﬁg;tb%'ﬁe’yfj\ﬁ:ifj T eI “'ﬁF’T[ﬁrﬂEﬁ F,LEL-
2.V JRURTSE R AL o R RN FOkEsl  EA R
AW f7 o HOT I IR R 2 AR TEBIE T RS ) S G S
3. LB &fof‘b%?ﬁﬁ o Ay e v % R EUIREIEIST o TS [ T RO G
BRI B AT L s e 3RCE R LR TR AL 4 By SRR B
4 e Y lﬁﬁ* [Eaee el S ] S FE YV ERYEE > BIRTRERUR -
EIARED 3 BERIGE 5 ‘ﬂ&%k’?@ﬁifé 4. F Rl TR AR RO S I Y
BURSK (57 A > SR T (U] TR -
RSk T L TEE LE KPEH > B 28
01 * FiAefy 84,594 *Hi%’ INCUSE [RRIRE BRI I G
0100 * gi7¥ 84,594 ~§E»'E'J10k AL N 0 AFTI03 s A -
0103 F}ﬁru F {fﬁl‘é 35,648 NG falj‘lpg vpmq:@ra_gw ,3395*, ﬁiﬁ{-m gili5ia
010301 J 1 34 35,648 °
0104 77 fid * £1 135 9,662 2.H T N IR PR TR SRS,
010401 557 * Eipv 2 4,990 659
010402 53fi ~ iV & 4,672 3. f‘ﬁf:z_l#"i@?ﬁ‘ﬂLJrﬁ"EFITE?ZHJJJ/EWE?%&“?}’
0105 7 7 » K3 10,098 Eiif13,982- 7
010501 £ ™ % K3 10,098 425 SR R ST G B 44, 750
0111 #4.4 12,421 °
011101 H5& 4,820
011102 7k 7 Buif ¥ 50
011110 =52~ Iﬁiqu 7,244
011199 I (44 5584 307
0121 H P 3,659
012131 ff i =D 1,635
012141 HiFvH)2l 1,375
012191 1&H| = “adipr & 649
0131 =g 73] 4,374
013101 &y ] 1,704
013102 J+ ff 5y 1,597
013103 ffiz72q¥ 1,073
0143 Sk BT F 2 3,982
014302 5 * Fifidi & 2,881
014305 597 i ~ Fii4 494
&
014306 £~ W~ % fH 607
>
0151 flfigs 4,750
015101 i fp gk | 2 2,734




Y252 ot B(BP LR R 2A)
AN EREZ LA MRA

EFM ¢ER F96E B i o frd i+
1 iERE B2 SEL 5808113003 PV 2 RS ETE FH & 460,897
SR R AT WE & KFHE = m
015102 “* i fi baa )= 1,008
015103 7 i i baa b=l 1,008
02 $L F 13 (k) 12,032 Faghi g~ o | BELITTEIGPAR LS Ay - Vg J IR
F (e Rt I I N TE S (P
0200 3 757" 11,972 ¥ o gy ”E’“ﬁfu SRS (B R
0201 57 s 300 AR EarF PR I - R R
020101 )% 200 E'J12,03zf iﬁ%‘*&'y’llﬁﬁf ’i,fg%g,'jja{'
020102 75l 100 6077 >t
0202 <& 2,254 L= 4B 7927 (A RARER)
020201 <% 350 2 B AI306 7 o W IR T
020202 F' 1,854 7 [’%ﬁ'ﬁﬁ%wzowﬁ S
020299 £l {4g ] 50 3R 4487 7~ APIRH 1SS R R
0203 3pj 360 P B P AT AR 5527
020301 HyissaiFy 50 ,000-" 7
020302 — 4E5pjFt 310 4IRS TRV e~
0215 @V 1,450 5. FHF P BES AR S ERA620T R 0 B
021501 i [Ehitey's 1,450 (DEES R SEFSL 7
0219 H P w57 & 200 (2) FHF RS54SR > F 2T LN D
021901 H fo¥ w57 & 200 58,3137 FHIBTR  2E A4 E
0221 B 5% 306 FUR3IH S 2 7 24,9397 > FH75T 57
022101 %] 97 WoE I') FHIFHON - D5 F 49,8777
022102 4174 209 REF4497 R 5 RIS IS £ 16637
0231 iy 1,000 REFI3TT > [AHSASTR
023101 1 3 = (ol 448 6. PRI FFL,0227 7 - W -
023102 S5 55177 W [ 246 (D) 2 FSAIR 9487 7 ¢ (1] BISHISH » &
023103 %1 i fa 306 {289 - B A 28,67 B
0271 P 1,377 3247 5 AE[HIBH > BifE £ 5001229
027101 3 if 1,277 Ao BEA45R 0 G539 B8
027102 ZHf# i} 100 Bl B EI3L A B 28,67 0 FE
0279 — 4E ¥ 1,792 FBS T AFHHO48T R (R 2]
027901 — 4&; 357" 1,792 A1)
0282 5= SFE 745 ()10 Bt 3 SR & RIS, 00
028201 5! i s 745 05F » B 2 H[24.57 » HFFT4T 7
0283 1 W BF B 5 626 0 ESTISTISE 745 T (FRES M PR
(& ) ¢
028301 1 1 #5745 626 8. Hl Pa— LS HORER LT [ER AR Y
B CETERS  RPY S RS ES,
0284 [kt 5158 e 1,000 814 7




Y252 995hBPLRARLFE 2R
PP EREZ AL PR

EFME vEAFY6E R Hi o 34+~

1 iERE B2 SEL 5808113003 PV 2 RS ETE FH & 460,897
AAE R P FEE £ KPEH > B 28
v 9. F TR MAERRAIFS0" 7 - vk i
028401 45 1 B s i 1,000 B RV AR IR 500 fFHL, 4507
swH T oo
0291 I[*|H 500 10, BEEL* Y5 FEREREFT ~ I S (7
029101 [ iy 500 T iR 4557
0299 1% 62 L AR () ‘m ??ﬁ,%EfF'EE [ &~
029901 4 i+ 62 %Bfgrwrr SENS PR 2 N R %F*J ity
0400 #4k 217 60 F55 492007 7
0475 25481 = eIl 60 12. F PRI 2T N 5500 7
047502 11l & 60 135206 EY= AR 607 7 (677 7 ¥10 * =60
T AR S -
03 ARy i-EE 45,515| FEIF - Bk | A FHE45,5157 R GEE 42,7007 7 ) - (7
= 5 “P}F :
0200 % #57" 45,515 1 BEHESE 7 B P SRRt
0202 < 3,420 600" 7
020202 ' 3,370 2. [k 7 1 S g B 9001
020299 £l {4gy ] 50 3.4 B (R bﬁ'ﬁf‘jﬁ%a@soo;n ,
0203 7 330 6 S5 T KR
020301 HyissaiFyY 50 4. RV T AR TS 15T R
020302 — 4E5pjFy 280 U £ KR
0215 ¥R 2,850 5 BEEIITE 3 B 0 RS i PR R A
021501 FyH i (it 2,850 ﬁaf%ﬁf}ﬂ?%@lb%;“F%;?a['“JSOOJw s $553
0219 H P43 w5 & 705 (K
021901 £l 43 st & 705 6. F17 = (HIREY Y1, 000" 7
0221 A} R 4175 370 7 BERIR Y S P A 2 R 50-
022101 % 100 %b’ﬁﬂ\%ﬁﬁ:@\l BIFTR141007 7 > 7172
022102 #14 270 50" 7
0231 fulfiga 100 8 BRI B VIR o ~ NFT PR - S
023102 S5 57 100 RyPbi ~ B SO S fe ~ F 1~ pT
0250 F [ R P 2 750 AT 3351 P SR R et o Wit o= < WA
025001 [l 600 FRE SR, 700 7
025002 H',Hﬁ‘g[b 100 9. (MBI T E I s BRI  H P
025003 5% s v 50 Y EVRIE Eiéw@ﬁ&(”?%ﬁﬁ?ﬁ'%; w
0271 ¥ i 500 53,000 7~
027101 3 i} 400 10. ek = 31t 2~ H B A 43T 14,80
027102 ZHf il 100 07 » B
0279 — 4y’ 10,700 (1) =8 HIFRAER R 4, 8007 7 (B~
027901 — 435 10,700 ) réfe,’ﬂﬁé%w'l FURET, 000 7 ~ [ ik




FEF2R(BP LR FE2A)
RIUFEREZ LA FMR4A

EFME vEAFY6E R Hi o 34+~
LEE BAER Bl 5808113003 R} [IF T A FT T E FE & 460,897
AATTRE BN R AW ESad A ® P
0284 351 s et 25,080 1,000 7 )
(& (2) B T VR A I S, 500
028401 F%ﬁ%uig;mr%ﬁgj 25,080 (3) B[ N@J&rﬁ%ﬁé'bﬁp J800 T (
=Bl ﬁﬂd&ﬁamrfw)
0291 [ i’y 710 (4 FRBPIRH SERR E AR 1,000 7
029101 [ [l 710 (S)Wﬁk*‘ﬁﬁ T AR AR 2
00" 7
(6) PP [+ FERBUAIE RS R
|-|J1 500 7“-‘ °©

UL G h [ RS At '“fﬁ%‘waﬂrﬁﬁ 000" 74
12, Z B R & ”fl[ A%jvé%q*g”ﬁﬁooj
7‘[_1 o

13. G R 4 B R R 300 7

L4 SO B S RIEHE S T BT - SRR RS
HICH] = (0 PR L (=) > HF2,0
007 7 » (7 35l -

15[ A I 2 i (SRR A BRI
?—i’ﬁ TR A RIS00 7 - Y

16. B 2 G 4 B5FP G - SRR
FRFTT, 50077 G

17 e T SR B R~ S
P 2R 1 (o S RE1, 500
T RO

8. flI=AE I RAET Y3, 5507 7 F’%g;zu i)
o5 = HIF] T%Eﬁﬂﬁgfr“glclsrrl\ A - lﬂlm
A SERI B PR~ N A R
fﬁiﬁﬁ-’:‘@wﬁ’ﬁﬁ‘u%ﬂ’ KR g*ﬁfu;fﬁrea;u
TN L AR 5 M B
PSR R I/%Jaua;ai'

19, BEE Ak E%E'J*é?z'fﬂelﬁﬁi'j [ o
R IR RIS B 9 e PDATYRY
E‘ﬁ [ R, 500+ (S

Z d’ﬁ = 78'%:—4 R E AR e TR
00 7

21 B RS WAV - BB K

TR AT LB RELS ~ RIFRETY7]3,0007 7 ¢




Y252 ot B(BP LR R 2A)
AN EREZ LA MRA

EFME vEAFY6E R Hi o 34+~

1 iERE B2 SEL 5808113003 PV 2 RS ETE FH & 460,897
SR Tk AW S84 8t # p
20 BERL = W[ ) R IR SRR
2 B SR R AR R S
wl 1,000 7% -
23 BRI F IS W Y IR T (=1,0007 7
24. THPT 5 ESIVRITUR ~ Feh ¥
HEPFH - Fpps ‘a"F‘Jl 000" 7
25 LB R B B = BRI BT 3 T
P,Jm‘z*avSOOI
26 [5llh [7] 2 %FEﬁ‘ HEIE T l‘a?rﬁTSOOf
R oo
04 iR s F 16,300 | I FEHAZTY16,3007 7 (REH 16,3007 ) » [FH
0200 ia‘ﬁ'f 16,300 SRR R
0202 7#%*‘3% 1,170 LR ) s U R R A 98207
020202 ' 1,070 7o
020299 H (] i 100 2 BRERTRR T RIF Y RS RO
0203 37" 865 HERE ~ U R & Y3, 500 7
020301 EriSsaF i 50 .
020302 — &[] 815 3. B 2 [l R 0 - - ke
0215 ¥V 2,000 b RS AR, 500 R
021501 7\ [ty ¥ 2,000 4. BERIG: M Tl RSP~ B R P
0219 E 3 w7 & 412 [ PR R R 480‘
021901 HI P4 557 & 412 5. BEREpOES d - SRR RS R
0231 flidy 206 LY ~ B (R B R, 5007 7
023102 S5 57 sl 206 °
0249 fi * Fipv e 800 0. BERIIEIUE ~ iR R ﬁ‘?J%Q:TT?’/IHF',
024901 5355 R 800 FAETE92,000-7 7
0250 | M FFRT = 610 7@1‘5@5«‘% R — ﬂ[ [%@'ﬁ* ERits
025002 {11 130 Ty ﬁm& * iR ST
025003 4 Gl 100 ?“Ffr%ﬁ'rﬁ%gan ,500-" 7
025004 7 380 8GRI WI=RAP Il FIDVDRY M ~ Bt iy 24K
0271 1l 495 PR IR SR, 500 7
027101 Jfi iy 413 O FRBE Y Ry ChR R RS R
027102 ZFHf il 82 A241,500" 7
0279 — ;35" 5,741 10.fﬁiﬁ‘fﬁe’ﬁ%%ﬁﬁ(ﬁjdglfm SRR £~ BT
027901 — iy 5,741 ﬁ;—)uﬁ:g' Fli o g il = r‘%ﬁj‘bg@%ﬁﬁﬁ[% ER
0284 Rk {515 3,630 EALISA41,0007 7
14




Y252 995hBPLRARLFE 2R
PP EREZ AL PR

EFME vEAFY6E R Hi o 34+~

1 iERE B2 SEL 5808113003 PV 2 RS ETE FH & 460,897
SR R AT WE & KFHE = m
028401 45 1 s ) 3,630
wEY
0291 [ |17 314
029101 [ i7" 314
0294 3Eiq'y 57
029401 32" 57
05 ) jF st zh 14,904 74 FEFHED14,9047 R (FEH14,904 7 ) > (¥
0200 % 757" 14,904 Y g
0202 <Y 784 L F VSR ~ Mt B (e BSR4
020202 ' 760 72,000 7
020299 H ]+l 24 2 BEEIPSIREISE BRI FH R RE2, 3007 7
0203 5[4 328 EERE
020301 Brissp| i 50 (DFFFHNFT R A R - Rl
020302 — 437\ 278 TN IR 28 (2O)AE%900- 7
0219 H Py w57 & 410 (2)F FFANFT P BB R R
021901 & po3 357 & 410 PR IR 3427900 7
0231 ffi@q 54 (3)BEEESRI R T (=5500 7
023102 S5 53535 2 fpl e 54 3P R E 2, 4547 0 WA
0250 H'f 1 et 284 (1) FEPRBAPA B 2 oy s o7
025002 {117 284 TPl Rl R 850
0251 =5 £y 5,904 (2)F FPHRAIR I S AT R
025102 =5 7k 5,904 i%?\@t%%i&“@a'wowﬁ
0262 i[5 78 {71 138 (3)BERFFIRUE AP 1) T (574900 7
026201 [ 37 (11" 138 4. Frp EREIETHL, 70077 0 B
0271 P 300 (1) FEP R B 2 2 T Bt
027101 3fi#if 250 Fifhooo 7w
027102 ZHfE i 50 (2)BERH AP (R ~ ST ~ =17
0279 — iy 5,425 I FERE T (BRhREY500-" 7~
027901 — 4&; 357" 5,425 (3)BEEEPI ) (59300 7
0284 iy 1 B ff Bt 994 5.4Ef NV IR EEL, 5007 7 o B
A (1) FTFAE IR |2 Bl RSB R TR 5 W
028401 Gk 1 5 sy 994 I 900 7
B (2)BERIE f5 =2 ) V55600 7
0291 B[ 7 283 6. R U A RV S P SR (R B
029101 [ [H" 283 (4,950 7 » B -
(D) PP A F R RIS SA142, 5007 7+
Rt o 2 ol iR R o
EPOLHIRT T (=0 IR - R




Y% 2 ot Fh(BP LR R Y 2A)
AN EREZ LA MRA

EFME vEAFY6E R Hi o 34+~
LEE BAER Bl 5808113003 R} [IF T A FT T E YL 460,897
AATHEE R FE LR KyPEE S o

VSRCMRETYRE S L AR PR
r,E%Z MR~ G AR e P
{"‘jclir T2 MY R S EREET (B
(2)BEH S P e U B ‘BFE'FTJ%%?\E
91,6507 7 > cu?ﬁ
<I>F FPALR P [ T = ] R R
MR g s S50
<2>§i¢’gﬁ«%§ﬁ%ﬁ Yt IR
A FAAEE9900- 7
(3) B P Hﬁ‘lflﬁ WG BEETRAY

%Jg@%&r:" TWFE]‘QA TJI?M" %ﬁ%ﬁ
FEl 800f
06 + 9l et 173,900 f-5l7+ #2FEHATIS173,9007 R GEE173,9007 ) »
0300 F%rfﬁbi@“ﬂ 173,900 %p’p ALY o FRGG B =) SR
0301 + &4 173,900 BRSSP W 2 H AR TR SRR
030101 + &4 173,900 W DR B B T T TR
VRS ST SR 10 SLIR - FYEATIEE
W?)’fﬁﬁﬁi E o Pl P (0 H 2 Ff}ﬂ@*
l'ﬁﬁﬁl’éﬁ'é%‘l“fﬁ”Jffﬁ BBy FPRERIHEFRT3,
900" 7
LT 296,651 ;?ﬁ;;l@s:g]'ﬁl;g,j NIy
L2007+ - 49 fETHY|(HF £ 59145, 200
2 EAFERE A PRy DU PO R Y R B
PRI £ 28,700 7
07 ¥y~ FHET 107,962 ¥k FFHESS107,9627 R GEHI107,9627 ) » 7
0300 FEj 1427 107,962 A 4 -
0302 M5 5% i 19,500 LS S R 19,5007 7+ i
030299 &l {445 19,500 (DRI S RS R |1 SR
0303 ?ilﬁ?“?ﬁ?ﬂ' 88,462 Y TR IE?F* 4 5+10,000 7
030399 H P47~ A 88,462 () FEEEBE B gfrwpb A H GRS
49,500 7
R R IS8 4627 0 W

<1>a%y$ ST P T A T
HATRAR - i 1T 1 s a2
,000-" 7

(2915 B BRI S 1
f?i,[\?ﬁ%'??ﬁgFL Hd o BERIFEL 251 )
HE P gk [*J‘f—'rl AT ,iiﬁ‘;J:rg




SR E

F¥2F2 94 h(BP LR FY 2R
(PR REZ AL RA

vERFIGE R

i 3748+ 2

1 RALZ S (5808113003 PRV (% -

AT

4y

oy
Jo
[
=}
B

460,897

2RSS ERE L

41

AyrE

# p

08 41 f1 it

0300 Fffy w4277
0304 i
030401 ity 1

5,690

5,690
250
250

B R T 2 R R0,
000 7

(3) BRI G Tl L SRV B~ FHAST R S
00 7

(4) FBH PR 2 SR SR © B
B S AR, 000 7

(5) ek = RIS b LI e =
FE9, 0007 7

(O RIS fif e RIHRAEIYRE 1,000 7

(7SRRGB e I =t W B 7 12,
000~ 5% » I, [ [ [PES R i 2 20 A1
2 HEAERIRE [ B T
W Sl 5

(8) F PRI Iy~ Bl e g

PR S S  7H9

L0007

()T AR A AR 41,000 7

CLOYF bl 1 W81 2 2 0/ )
WG 1, 5007 7

(ISP S Al A9, 800"
Foe

D SETHE R F B B =
?F%‘I_ fH FH8,862 T+

(13)= = ﬂrtjffrzzﬁbwf&afﬁ'%ﬁj 49,80
07

(14)F[x_ B h 77 R ek F'sﬂt‘ﬁ‘ T AH2,000-"

(15) %P1 el = F%F%er* Hazi 4,000
TR
(16)BEFI R R EI pr[«ﬁ R '“ﬂa@%
WSS FHRESE 6,000 7 -
¢§+%1$§%{»§+ﬁ75,6904a (REE2,8327 ) 0 (7
R AT
LR 250 7 - FRIE R FPP ) LR
PRI 25007 < (FasEnpses ~ SR
W R )




Y252 995hBPLRARLFE 2R
PP EREZ AL PR

EFME vEAFY6E R Hi o 34+~

1Pk BAEZ ShEL 5808113003 PRIV [BEIF N RAL ET FH & 460,897
AATHE TR R KPRH #® i
0306 57 i RIFR 1 1 3,226 2. NP3, 2067 7 éu;fﬁ :
030601 fRIAEff i 1,632 (L)Tpi il PP SRR 1L 1927 7
030606 {f{ fifiéft 7" 976 <I>TRASHR B2 LT 1x60-T 7 =60
030607 5k B3 7" 618 TR
0319 FEFIEff i 2,214 OTFMFEHHIFFG 17 x40 7=407 7
031901 FEFiEffy i 2,214

B [ ST AR )45
Fo=45" 7

<A~ RS X35 R =875 7 -

<5>W*}Z§‘TFC'*‘J?¢‘Q§1'F“,><SOJ%:SOJ%

<6>VPE RS 1’ x50+ 7 =50-" 7

<7>ik}2\ﬁ I‘E“Elrr* EF{’FE')&M X367 =36

Tu

<8I NI RSB X367 7+ =36 7

(DWAEI Fii% B HEOTET 7 - (PP e
SRR 3
()P 9 AARAFH 44075 i

SIS AR 17 X200 7 =200 7
<2>1l'ﬁ“—5‘ﬂ &1 F " 1x240- 7 =240 7
(4) R 3R 2 5 |15 {ﬁﬁ!‘“ﬁﬁ FARO18T T e
<I>phz 1]’ﬁ*ﬁ9?ﬁ§f—ﬁﬂil*“x5004' =500-"
T
<2> B[ S RS - R A AR
118 A =118 7 o
3.%@?[’%%9’%2,214‘% » PEERIS
(1)?4‘}J§iﬁLIIHI‘°‘ s N R AR
%ﬁ?[ﬁZ?XISOI =300+ 7
(Z)Eéfﬁl'i%. [FFh P ?{ifr'b( B AR [
FRE(AFH)32X250-7 R =750 7
(TP fujbhrf‘*‘r"uféﬁ EJFﬁ’%TﬁS{“‘ﬁFﬁOI
i) Epfﬁ :
<I>29%| = E‘l%ﬁlﬁ%lf}xmiﬁﬂoiﬁ

<2>TTHETE P11 X607 =60
Fu oo

(AP ] - S T 57




Y252 9B LRRS Bl E 2
ARG EREZ A AP mRA

EFME vEAFY6E R Hi o 34+~

LEE BAER Bl 5808113003 R} [IF T A FT T E EE A 460,897
AATHEE R FE LR KyPEE S o
TR EpfF“[:

<1>ﬁ1§'§ B J}wfi"&‘6|: X207 =120-" 7
<2>qH?1; F [?[%%ﬂﬁiﬂ?] %2 X107~ =20

TR
<3>%?7JF[?|H‘ = ﬁﬁiﬁkz? [Xlo_r =20
TR
<A EE S A PRI X157 7 =3
OI

<S>FUEREE IS 1x207 7 =207
<CATR/BLT X607 =120
<Tomp e SRR AR 27 427 7+ =84-"
F o
<SS X657 R =657 7 -
<O> [l - Ak %ﬁﬁﬁ?ﬁﬁvﬁ%zf}xﬂf v =94
TR o
(5)%}2\{5%” |5 RS 1 %60 =6
0" 7
COTSRF [T TR 2007 7 - B -
<1>¥7J‘%‘§T2"‘[><154'ﬁ =30-" 7
<2>ﬁiqjh *LZF (X357 =70+ 7
<3>?’rfgl ‘TZ 245 x20" 7 =40+ 7
<4>5’7 AVP AR T (M) 15060
=60 7 o
(¥ = =5 % RARRES ﬁ@?%fl!%“ﬁﬁ 241" 7
, Epfﬁ
<IS3p g R 1715367 =367 7« (
SRS
<2>HEH J&‘&“ZF iX60" =120 7 o (Z <R
A B ITD
<3>%?§%ﬁ§2f}x15‘ﬁz3ojﬁ o (S Ry
)
<4>$.4*§ér;|1 (x40 T =40 o (2 Q'J;IJ[‘
)
<5>¥7J"f‘f§|1f}><15J'71:15J'7h o (2 g',I;I![‘)

10



